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Item B
ing standards and poverty in the UK

Li

————
\ Poorer people more Inkely !o suffer heal!h problems
| Arecent report by the UK’s National Health Service (NHS) found that
people who are better off can live up to 10 years longer than poorer people.
People who live in poverty tend to suffer from poorer health than those who
are better off. This can be caused by a number of factors which can lead to
significant health problems, including illnesses such as heart disease.

Arecent study has found that poorer people are up to six times more likely
to be victims of violent crime. It is claimed that people who live in poverty
have a greater chance of being victims of crime.

Poverty continues to be a problem for the UK even though the government tries to tackle
it. Anti-poverty groups have argued for an increase in the National Minimum Wage and
increased benefit payments to those on low incomes as ways of reducing poverty.

You should refer to Item B and what you have leamnt from your investigation of this
topic when answering the following questions.
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Explain why poverty can lead to health problems.

(3 marks)
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Many economists think that there is often a conflict between economic growth and
sustainabilty. Do you agree? Use Item C and what you have leamt from your
investigation of this topic to give reasons for your answer.
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tem C
Global Warming

Global warmiing refers to the increasing temperature of the Earth's atmosphere
and oceans. Many scientists are certain that the main cause of global warming is
increasing levels of greenhouse gases caused by the buring of fossil fuels and by
deforestation. Consequences of global warming include more extreme weather, loss
of farmiand, ising sea levels and increased flooding.

Economists point out the unfaimess of global warming. They state that tis mainly
caused by activites in developed countries. However, the consequences are often
faced by citizens of developing countries who are less financially able to deal with
them.

Many economists argue that global warming is an inevitable consequence of
economic growth, and that it will reduce the abity of future generations to enjoy
an improved standard of living. They argue that there is often a conflict between
economic growth and sustainabilty.

~ e





image9.png
Explain two ways in which the economies of developing countries are affected by
global waming.
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Many people feel that the UK economy has benefited from being a member of the
European Union (EU)

Do you agree that being a member of the EU is good for the UK economy? Give
reasons for your answer.
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The UK and the EU in recession
Figure 1— UK Economic Growth, 2008-2010
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After more than 15 years of positive economic growth, the UK economy went into
recession in 2008. The UK govemment tried to pull the UK economy out of this.
recession by reducing Valued Added Tax (VAT). VAT is a tax on spending put on
‘most goods and services.

Between 2008 and 2009, most European Union (EU) countries also went into
recession. This made it harder for the UK to recover.

The UK has been a member of the EU for over 30 years. This has a number

of both advantages and disadvantages for the UK economy. The

include increased trade and a bigger market for UK businesses. However, the
indlude increased for UK firms and more: for
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Explain how moving into recession might affect jobs and prices in the UK.
Jobs.

Extra space





image4.png
The UK government might consider the following two methods to reduce poverty.

« Increasing benefit payments to those who are unemployed or on low incomes
 Raising the National Minimum Wage from around £6 per hour to £8 per hour.
Recommend which method you think would be most effective in reducing poverty in the

UK. Use Item B and what you have leamnt from your investigation of this topic to give
reasons for your answer.




